
Familias de Operaciones (G)
Rellene los espacios para completar cada familia de operaciones.

5 × 8 = ____ ____ × 11 = 22 9 × 2 = ____
8 × ____ = 40 ____ × 2 = 22 2 × ____ = 18

40 ÷ 5 = ____ ____ ÷ 2 = 11 18 ÷ 9 = ____
____ ÷ 8 = 5 22 ÷ ____ = 2 18 ÷ ____ = 9

4 × 3 = ____ 2 × 5 = ____ 7 × 5 = ____
____ × 4 = 12 5 × ____ = 10 5 × ____ = 35
12 ÷ ____ = 3 10 ÷ 2 = ____ 35 ÷ 7 = ____
____ ÷ 3 = 4 ____ ÷ 5 = 2 ____ ÷ 5 = 7

9 × 8 = ____ 2 × ____ = 4 7 × 9 = ____
8 × 9 = ____ ____ × 2 = 4 9 × ____ = 63

72 ÷ 9 = ____ ____ ÷ 2 = 2 63 ÷ 7 = ____
72 ÷ ____ = 9 4 ÷ 2 = ____ 63 ÷ 9 = ____

4 × 5 = ____ 12 × 9 = ____ 12 × 2 = ____
____ × 4 = 20 9 × 12 = ____ 2 × 12 = ____
____ ÷ 4 = 5 ____ ÷ 12 = 9 ____ ÷ 12 = 2
____ ÷ 5 = 4 108 ÷ ____ = 12 24 ÷ ____ = 12

____ × 7 = 42 ____ × 4 = 20 ____ × 12 = 72
7 × 6 = ____ 4 × ____ = 20 ____ × 6 = 72

42 ÷ ____ = 7 20 ÷ ____ = 4 ____ ÷ 6 = 12
42 ÷ ____ = 6 20 ÷ 4 = ____ ____ ÷ 12 = 6
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Familias de Operaciones (G) Respuestas
Rellene los espacios para completar cada familia de operaciones.

5 × 8 = 40 2 × 11 = 22 9 × 2 = 18
8 × 5 = 40 11 × 2 = 22 2 × 9 = 18

40 ÷ 5 = 8 22 ÷ 2 = 11 18 ÷ 9 = 2
40 ÷ 8 = 5 22 ÷ 11 = 2 18 ÷ 2 = 9

4 × 3 = 12 2 × 5 = 10 7 × 5 = 35
3 × 4 = 12 5 × 2 = 10 5 × 7 = 35

12 ÷ 4 = 3 10 ÷ 2 = 5 35 ÷ 7 = 5
12 ÷ 3 = 4 10 ÷ 5 = 2 35 ÷ 5 = 7

9 × 8 = 72 2 × 2 = 4 7 × 9 = 63
8 × 9 = 72 2 × 2 = 4 9 × 7 = 63

72 ÷ 9 = 8 4 ÷ 2 = 2 63 ÷ 7 = 9
72 ÷ 8 = 9 4 ÷ 2 = 2 63 ÷ 9 = 7

4 × 5 = 20 12 × 9 = 108 12 × 2 = 24
5 × 4 = 20 9 × 12 = 108 2 × 12 = 24

20 ÷ 4 = 5 108 ÷ 12 = 9 24 ÷ 12 = 2
20 ÷ 5 = 4 108 ÷ 9 = 12 24 ÷ 2 = 12

6 × 7 = 42 5 × 4 = 20 6 × 12 = 72
7 × 6 = 42 4 × 5 = 20 12 × 6 = 72

42 ÷ 6 = 7 20 ÷ 5 = 4 72 ÷ 6 = 12
42 ÷ 7 = 6 20 ÷ 4 = 5 72 ÷ 12 = 6
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